
2. Coaxial cable. 
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The loss tangent is 10-3 at 10 MHz, thus 
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Then, Z0 = 52.75+j0.026 ,  = .002 + j0.3148 

If it is lossless (G=0), Z0 = 52.75 ,  =  j0.3148 
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Zin=  49.1045 +j35.0258, Vi = 7.2424 + j1.3034 V, Ii = 0.1103 - j0.0521, Pav,line = 0.3655 W 

9551.18636.0,6517.03788.6 00 jVjV  
, VL = -7.3915 - j4.2962, IL = -0.0739 - j0.0430 

Pav,load = 0.3655 W 

 

4. 500 
C

L
Z ;  20 LC  

Zin = 100, Vi = 20 V, Ii = 0.2, Pav,line = 2 W 

5,15 00   VV , VL = 20, IL = 0.2, Pav,load = 2 W 

 


